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Alien Genetics 

First – for every characteristic we have two genes.  For example I have two genes for antenna length and two genes for skin colour (curse the black and white printing – I’m a lovely shade of green).  I also have two genes for ear size and snorkel length and so on.

We can have genes for long antennae or short, long snozzle or short, green or yellow skin, or big or small ears.  If we have two different genes for say ear size, only one shows up.  This is said to be the dominant gene.  The one that is hidden is said to be recessive.
We use symbols for these genes. E.g.

	Characteristic
	Dominant
	Recessive

	Ears
	Big  E
	Small  e

	Snozzle
	Long  L
	Short  l

	Colour
	Green  G
	Yellow  g

	Antennae
	Long A
	Short a


My genotypes (=the genes I have) are
	Ears
	E e

	Snozzle
	L L

	Colour
	G G

	Antennae
	A a


If you have two genes the same you are homozygous – either homozygous dominant  (E E) or homozygous recessive (e e)
If you have two different genes you are heterozygous – ( L l)
We can work out the possible genotypes of our children using a punnett square

So now try the problems on the next page.

Genetic Problems
Write the genotypes of:
1. A pure-breeding green Alien ________

2. A pure-breeding yellow Alien _______

Work out a cross between these individuals


What is the phenotype of the offspring?

____________________

Work out the results of a cross between two of the offspring above

What is the phenotype ratio of the offspring?

______________________________

______________________________

Write down the genotype of Alien 1 who is heterozygous for long antennae ________ 

Write down the genotype of Alien 2 who is homozygous recessive for antennae ________ 

Write down the genotype of Alien 3 who is homozygous dominant for antennae ________

Work out a backcrosses between each of the three genotypes above (that is, cross each of them with an aa individual.


1

a
a

2
  a
  a

3
      a
      a
Phenotype __________________
________________________
____________________

Ratios
     __________________
________________________
____________________

The family tree below shows the inheritance of snozzle length in the Zarquin family. Individuals shaded grey have a short snozzle.

In the circles or squares, write down the genotypes of each member of the family, or all of the possible genotypes of those you can’t work out for sure.  

Circle the one above which must be adopted

Greetings Earthling students. My job is to teach you some words and facts about genetics.  We aliens have the same system of inheritance as you, so it shouldn’t be too hard for you.








